
 

Holman 

Rancho Cordova, CA 95742 

800-343-7486 

InstallationSupport@Holman.com 

20240212R1 DATE: ________________ 

Instruction Guide 

12920 
 

 

 

 

  

file:///C:/ATG%20Vault/KargoMaster/12920/Instructions/InstallationSupport@Holman.com


  Instructions – 12920 

 For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST)  Page 1 

PLEASE READ ALL INSTRUCTIONS AND WARNINGS PRIOR TO 
ASSEMBLING, INSTALLING, AND USING THIS PRODUCT. 

Warning 

Always check for wires, fuel tanks and lines, brake lines and other important 
vehicle functionality items prior to drilling and installing all products.  

 

Table of Contents 

Tools Needed .................................................................................................................................. 1 

Before You Begin ............................................................................................................................ 1 

Parts List .......................................................................................................................................... 2 

Hardware ......................................................................................................................................... 2 

Step 1 – Install Lower Stobe Light Brackets and Clamps to Rack ................................................... 3 

Step 2 – Install Upper Light Bracket ................................................................................................ 3 

Step 3 – Install Lights on the Upper Bracket .................................................................................... 4 

 

Tools Needed 

7/16” and 1/2" Socket and Wrench #2 Phillips Screwdriver 

 
 

Before You Begin 

• Read all instructions prior to assembling or installing any Holman product.  

• Always locate your installation locations prior to performing any work. 

• ENSURE SAFETY WHILE INSTALLING OR DRILLING INTO VEHICLE.  

• This kit includes only the brackets, lights will need to be purchased separately. This kit is 
designed to be used with 40424. 



  Instructions – 12920 

 For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST)  Page 2 

Parts List 

 

Hardware 

  



  Instructions – 12920 

 For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST)  Page 3 

Step 1 – Install Lower Stobe Light Brackets and Clamps to Rack 

• Using two 5/16 x 1” carriage bolts, two 5/16” flat washer, and two 5/16” lock nuts, bolt through the 
lower strobe light bracket and strobe light clamp to attach them to any 1” tube on the rack.  

• Repeat for the three remaining sets of strobe light brackets and strobe light clamps. 

Step 2 – Install Upper Light Bracket 

• Using two 1/4” x 3/4" hex head bolts, four 1/4" washers, and two 1/4” lock nuts, loosely fasten the 
upper light bracket to the previously installed lower bracket. Be sure to leave the hardware 
loose enough to adjust the angle of the upper bracket to the desired position. 

• These light brackets are designed to allow each light to be angled 
as desired. This allows for light visibility from all angles if configured 
correctly. 

• Set the upper light bracket to the desired angle then tighten the 
previously installed hardware. 

• Repeat for the three remaining strobe light brackets. 

 

 



  Instructions – 12920 

 For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST)  Page 4 

Step 3 – Install Lights on the Upper Bracket 

NOTE: Lights (40424) are not included with this kit and must be purchased separately. 

• Using two 8-32 pan head screws, two 8 flat washers, and two 8-32 flange lock nuts, attach the 
light to the upper light bracket as shown.  

NOTE: There are additional mounting slots on the bracket to allow for installation of different 
lights. 

• Repeat for the three remaining strobe light brackets. 

 

GO BACK AND TIGHTEN ALL HARDWARE. 

 

INSTALLATION IS COMPLETE. 

 

Shown with 40424 


